
S‐575/BO‐09                                      1                                               P.T.O. 

Total Printed Page : 08                         Roll No………………. 
 

BO-09 
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vko`Ùk chft;ksa dh ofxZdh ,ao HkzkSf.kdh 
Bachelor of Science (Boatny) (BSC-12/16) 

Third Year Examination - 2019 
Time: 3 Hours                                   Max. Marks: 40 
 
Note:- This paper is of Forty (40) marks containing three(03) 

Section ‘A’, ‘B’ and ‘C’. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

 

uksV%&  ;g iz'u&i= pkyhl ¼40½ vadks dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x*] esa foHkkftr gSA f”k{kkfFkZ;ksa 

dks bu [k.Mksa esa fn, x, foLr`r funsZ”kksa ds vuqlkj 

gh iz”uksa ds mÙkj nsus gSaA 

Section-A/ [k.M&d 

(Long Answer Type Question) / ¼nh?kZ mÙkjh; iz'u½ 

Note:- Section ‘A’ contains four (04) long-answer-type 

questions of Nine and Half (9½) marks each. 

Learners are required to answer any two (02) 

questions only.   (2×9½=19) 



S‐575/BO‐09                                      2                                               P.T.O. 

uksV%&[k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 

izR;sd iz'u ds fy, lk<+s ukS ¼9½) vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ks dks bu esa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

 

1. Describe the development of female gametophyte. 

 Eknk ;qXedksfHkn ds fodkl dk o.kZUk dhft,A 

 

2. Describe double fertilization and triple fusion in 

angiosperms.  

 vko`rchft;ks esa f}fu’kspu rFkk f=lay;u dk o.kZu 

dhft,A 

 

3. Describe the classification proposed by Engler and 

Prantel.  

 ,SXYkj ,oa izSUVy }kjk izfrikfnr oxhZdj.k dk o.kZu 

dhft,A 

 

4. Describe International code for Botanical 

Nomenclature. (ICBN)  

 vUrjk’Vªh; okuLifrd ukedj.k i}fr ¼vkbZ-lh-ch-

,u½ dk o.kZUk dhft,A 
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Section-B/ [k.M& [k 

(Short Answer Type Question)/ ¼y?kq mÙkjh; iz'u½ 

Note:- Section ‘B’ contains eight (08) short answer-type 

questions of four (04) marks each. Learners are 

required to answer any four (04) questions only. 

     (4×4=16) 

uksV%& [k.M ^[k* esa vkB ¼08½ y?kq mÙkjh; okys iz'u fn;s 

x;s gSaA izR;sd iz'u ds fy, pkj ¼04½ vad fu/kkZfjr 

gSaA f'k{kkfFkZ;ksa dks bu esa ls dsoy pkj ¼04½ iz'uksa ds 

mÙkj nsus gSaA 

 

1. Describe the family fabaceae. 

 QScslh dqy dk o.kZUk dhft,A 

 

2. Describe the family Apiaceae. 

 ,ih,slh dqy dk o.kZUk dhft,A 

 

3. Describe the family solanaceae. 

 Lkksysuslh dqy dk o.kZu dhft,A 

 

4. Describe the family liliaceae 

 fyafy,slh dqy dk o.kZu dhft,A 
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5. Describe the types of ovule in angiosperms. 

 vko`rchth chtk.M ds izdkjks dk o.kZu dhft,A 

 
6. Describe process of Parthenocarpy. 

 vfu’ksd tuu ¼ikjFkhuksdk;hZ½ fØ;k dk o.kZu 

dhft,A 

 
7. Describe process of Polyembrony. 

 CkgqHkwz.krk dk o.kZu dhft,A 

 
8. Describe diagramatic structure of pollen grain at 3- 

celled stage. 

 f=dks”kdh; ijkxd.k ds lajpuk dk lfp= o.kZu 

dhft,A 

 

Section-C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu"B iz'u½ 

Note:- Section ‘C’ contains ten (10) objective type 

questions of Half (½) marks each. All the questions 

of this section are compulsory.  (10×½=05) 

uksV%& [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa]  

izR;sd iz'u ds fy, vk/kk (½) vad fu/kkZfjr gSaA bl 

[k.M ds lHkh iz'u vfuok;Z gSaA 
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Choose the correct option: 

Lkgh fodYi dk p;u dhft,A 

1. National Botanic Garden is located at: 
 (a) Delhi  (b) Lucknow 
 (c) Kolkata  (d) Dehradun 

 jk’Vªh; okuLifrd m/kku fLFkr gS% 

 ¼v½ fnYyh  ¼c½ y[kuÅ 

 ¼l½ dksydkrk ¼n½ nsgjknwu  

 

2. Pulses belong to family: 

 (a) Asteraceae (b) Solanaceae 

(c) Paplionaceae (d) Liliaceae 

 nkysa fdl dqy eas ik;h tkrh gS%  

 ¼v½ ,LVjslh  ¼c½ lksysuslh 

 ¼l½ isiyhfu;ks,slh ¼n½ fyfy,slh 

 

3. Which family is known as coriander family? 

 (a) Apiaceae (b) Asteraceae 

 (c) Acanthaceae  (d) Malvaceae 

 fdl dqy dks dksfj;UMj dqy dgk tkrk gS \ 

 ¼v½ ,sih,slh  ¼c½ ,sLVjslh 

 ¼l½ ,dsUFkslh ¼n½ ekyoslh 
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4. Cyathium is a type of: 

(a) Fruit  (b) Stem 

(c) Inflorescence (d) Seed 

 lkbZfFk;e ,d izdkj gS% 

 ¼v½ Qy  ¼c½ ruk 

 ¼l½ iq’iØe  ¼n½ cht 

 

5. Pollen grain is found in fossil stage due to presence 

of: 

(a) Sporopollenin (b)Ubisch Body 

(b) Pollen tube (d)None of the above 

 fuEu dh mifLFkfr ds dkj.k] ijkxd.k thok”e 

 voLFkk esa feyrs gSA 

 ¼v½ Liksjksiksysfuu ¼c½ ;wfc”k ckMh 

 ¼l½ ijkx uyh ¼n½ mijksDr esa dksbZ ugh 

 

6. An example of triploid tissue is 

(a) Endosperm (b) Embryo 

(c) Ovule  (d) Nucellus 

 f=xqfcr Ård dk mnkgj.k gS% 

 ¼v½ Hkzw.kiks’k  ¼c½ Hkzw.k 

 ¼l½ chtk.M  ¼n½ U;wflyl 
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7. Pollen tube usually enters into ovule through: 
(a) Chalaza  (b) Integument 
(c) Micropyle (d) Funicle 

 Ikjkxuyh vf/kdrj fuEu ds }kjk gksdj chtk.M esa 

 igqWaprh gS% 

 ¼v½ pSystk  ¼c½ bUVSxw;esaV 

 ¼l½ ekbØksikby ¼n½ ¶;wfufdy  

 

8. Synergids are:- 
(a) Triploid  (b) Diploid 
(c) Haploid  (d) Polyploid 

 flujftM gSA 

 ¼v½ f=xqf.kr  ¼c½ f}xqf.kr 

 ¼l½ vxqf.kr  ¼n½ cgqxqf.kr  

 

9. The main function of Tapetum is: 

(a) Reproduction 

(b) Nutrition 

 (c) Protection  

(d)   None of the above  

 VsisVe dk eq[; dk;Z gS%  

 ¼v½ tuu  ¼c½ iks’k.k 

 ¼l½ j{k.k  ¼n½ mijksDr esa dksbZ ugh 
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10. Pollinia are found in: 

 (a) Zea  (b) Triticum 

 (c) Pisum  (d) Calotropis 

 ikSfyfu;k ik;s tkrs gS% 

 ¼v½ ft;k  ¼c½ VªhVhde 

 ¼l½ ikble  ¼n½ dSyksVªksfil 

 

***** 


